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Standard Sudoku 6X6

Place a digit from 1 to 6 in each empty cell so that each digit appears exactly once in
each row, column and 2X3 box.
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Standard
Sudoku 8X8

6 points

Place a digit from 1
to 8 in each empty
cell so that each
digit appears
exactly once in each
row, column and
2X4 box.

Standard
Sudoku (1)

6 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.
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Standard
Sudoku (2)

10 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.

Standard
Sudoku (3)

5 points

Place a digit from 1
to 9 in each empty
cell so that each
digit appears
exactly once in each
row, column and
3X3 box.
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Inequality
Sudoku v

4 points

Apply standard »

Sudoku rules.

There are 'greater
than' (>) and 'less
than' (<) signs. The
cell with the open
end of the sign
should be greater
than the cell with
the pointed end of
the sign.

Inequality
Sudoku v

12 points

Apply standard
Sudoku rules.

There are 'greater
than' (>) and 'less
than' (<) signs. The
cell with the open
end of the sign
should be greater
than the cell with
the pointed end of

the sign.
) og 3
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Either Or
2 points

Apply standard
Sudoku rules.

A digit between two

cells must appear in
one of those 2 cells.

Either Or
8 points

Apply standard
Sudoku rules.

A digit between two
cells must appear in
one of those 2 cells.
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Quad Max v

2 points b _1

Apply standard
Sudoku rules. 2

A"
Arrows are present
at some corners. 6 s 3 L
The digit pointed by
the arrow is larger I 3 5
74

than the other 3
digits touching that
corner.

Quad Max v
12 points 5| L j2] 1 | |se

Apply standard
Sudoku rules.

Arrows are present
at some corners.
The digit pointed by
the arrow is larger
than the other 3

digits touching that b 4

corner.
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Renban v v

Groups |
Sudoku

3 points 5 4

Apply standard 5
Sudoku rules. |

The set of digits on 1
each line must be |
distinct consecutive 3 1
digits.

Renban v

Groups |
Sudoku

7 points 6 1 9

Apply standard
Sudoku rules. 9 5

The set of digits on b 5 6

each line must be
distinct consecutive
digits. 4 7
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Touchy
Sudoku

5 points

Apply standard
Sudoku rules.

A4

Each digit has at
least one

consecutive 2 5
adjacent (sharing

edges) neighbour. 6 1

Touchy
Sudoku v

14 points

Apply standard
Sudoku rules.

Each digit has at

least one 6 3

consecutive
adjacent (sharing

edges) neighbour. 5 8

8 )
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